Welcome
Thank you for your interest in this survey about use case diagrams.

Please enter the following information

Name: 
	



Organization or Institution:
	



Country
	



Are you an IT professional?
○Yes		○No

Are you currently a student of computer science, software engineering or a related area?
○Yes		○No

How would you rate your knowledge of with use case diagrams?
○ Never heard of them
○ I have come across them before but never used them
○ I am quite familiar with use case diagrams
○ I am an expert


How would you rate your working experience with use case diagrams?
○ Never used them
○ I have seen them in projects but never built any use case diagrams
○ I rarely use use case diagrams in my work
○ I use use case diagrams all the time in my work
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A Very Quick Tutorial

Before you begin with the survey here is a small tutorial about the basics of use case diagrams and their notation. You may just click the “Continue” button below if you are already familiar with use case diagrams.


Use case models are used to model the functional requirements of a system. That is, what services does a system offer to its users. As such, use case diagrams contain two entities, use cases and actors. An actor is an entity external to the system, such as a human-being or another system. Meanwhile, a use case is a complete and meaningful service offer by the system one of its users (actors). A use case basically describes the behavior of the system while it is delivering its services as scenarios. For example, the diagram below shows a simplified registrar system that allows a student to register a course. The solid line between the actor and the use case indicates that this service is attained by that actor.

[image: ]

Sometimes use cases depend on other use cases, as in the behavior described by one use case is incomplete unless the behavior from another use case is merged with it. Dependencies are shown as dashed-arrows as shown below:
[image: ]


The result is a behavioral merge in one of the following ways:

	[image: ]
	[image: ]
	





Alright so all clear? Ready to start? Click Next
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Symbol 1

Consider the following dependency symbol:

[image: ]

Does this dependency symbol indicate that the behavior merge is:
· Mandatory
· Optional
· Neither

What does this symbol imply about the completeness of the base use case?
· It is complete without the inclusion use case
· It is incomplete unless merged with the inclusion use case
· Neither

What does this symbol imply about the completeness of the inclusion use case?
· It is complete without the base use case
· It is incomplete unless merged with the base use case
· Neither

What does this symbol imply about the dependency between the two use cases?
· The base use case needs the inclusion use case
· The inclusion use case needs the base use case
· Neither use case needs the other

Please provide the reasons for your choices above:
	












(Warning: Going back to a previous question is not allowed)
	Next





Consider these two dependency symbols that have the same meaning

(a)
[image: ]

(b)
[image: ]


Which of these two symbols better indicate that the merge is necessary?
· (a)
· (b)
· Neither

Which of these two symbols better indicate that base use case is incomplete?
· (a)
· (b)
· Neither


Which of these two symbols better indicate that inclusion use case is complete?
· (a)
· (b)
· Neither

Which of these two symbols better indicate that the base use case depends on the inclusion use case?
· (a)
· (b)
· Neither

Please provide the reasons for your choices:
	









(Warning: Going back to a previous question is not allowed)
	Next



Symbol 2

Consider the following dependency symbol:

[image: ]

Does this symbol indicate that the behavior merge is:
· Mandatory
· Optional
· Neither

What does this symbol imply about the completeness of the base use case?
· It is complete without the extension use case
· It is incomplete unless merged with the extension use case
· Neither

What does this symbol imply about the completeness of the extension use case?
· It is complete without the base use case
· It is incomplete unless merged with the base use case
· Neither

What does this symbol imply about the dependency between the two use cases?
· The base use case needs the extension use case
· The extension use case needs the base use case
· Neither use case needs the other
· Neither


Please provide the reasons for your choices:
	









(Warning: Going back to a previous question is not allowed)
	Next






Consider these two dependency symbols that have the same meaning

(a)
[image: ]

(b)
[image: ]

Which of these two symbols better indicate that the merge is optional?
· (a)
· (b)
· Neither

Which of these two symbols better indicate that base use case is complete?
· (a)
· (b)
· Neither

Which of these two symbols better indicate that extension use case is incomplete?
· (a)
· (b)
· Neither

Which of these two symbols better indicate that the extension use case depends on the base use case?
· (a)
· (b) 
· Neither

Please provide the reasons for your choices:
	









(Warning: Going back to a previous question is not allowed)
	Next




Symbol 3

Consider the following two sets of symbols:
(a)
[image: ]

(b)

[image: ]

Which symbol do you prefer that indicates the extension point and condition of the extend relationship?
· (a)
· (b)
· Neither


Please provide the reasons for your choice:
	












(Warning: Going back to a previous question is not allowed)
	Next




Symbol 4
Consider the following symbol:

[image: ]

What does this symbol indicate about the behavior describes this use case?
· Incomplete or abstract
· Complete
· Neither


Please provide the reasons for your choice:
	












(Warning: Going back to a previous question is not allowed)
	Next


















Consider these two symbols that have the same meaning

(a)
[image: ]

(b)
[image: ]

Which of these two symbols better indicates that the use case does not describe complete behavior (i.e. abstract)?
· (a)
· (b)
· Neither




Please provide the reasons for your choice:
	












(Warning: Going back to a previous question is not allowed)
	Next











Symbol 5

[image: ]

These symbols indicate a:
· UML package
· UML classes
· Use cases
· Other
· Don’t know




























Consider the following two sets of symbols:

(a)
[image: ]

(b)
[image: ]

Which of these symbols better indicate that is a use case?
· Symbols in (a)
· Symbols in (b)
· Neither

Which of these symbols are more likely to mislead you that they are UML classes or objects?
· Symbols in (a)
· Symbols in (b)
· Neither

Please provide the reasons for your choice:
	







(Warning: Going back to a previous question is not allowed)
	Next



Symbol 6

Consider the following two sets of symbols:

[image: ]

These symbols indicate a:
· Use cases illustrating their behavior as a statechart diagram
· UML packages illustrating their behavior as a statechart diagram
· UML classes illustrating their behavior as a statechart diagram
· Other
· Don’t know


























[bookmark: _GoBack](a)
[image: ]

(b)
[image: ]



Which of these symbols better indicate that the statechart shown models the behavior of a use case?
· Symbols in (a)
· Symbols in (b)

Which of these symbols are more likely to mislead you that they are UML packages?
· Symbols in (a)
· Symbols in (b)

Please provide the reasons for your choice:
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